Beginning Trig Review




Name_____________________









Period_______Date__________

I. Complete the following table:  Change Unit means convert from radians to degrees and vice versa.  Use exact values wherever possible and 4 significant digits elsewhere.

	Given Angle (
	Coterminal Angle
	Reference Angle
	Sin (
	Cos (
	Tan (
	Change Unit

	30˚
	
	
	
	
	
	

	120˚
	
	
	
	
	
	

	246˚16’
	
	
	
	
	
	

	5π/6
	
	
	
	
	
	

	5π/4
	
	
	
	
	
	

	5.27
	
	
	
	
	
	


II.  Find all 6 trig values based on the given information.

	Given 
	Sin (
	Cos (
	Sec (
	Csc (
	Tan (
	Cot (

	(-7, 24) lies on terminal ray
	
	
	
	
	
	

	Sec ( = 3 and 

π < ( < 2π
	
	
	
	
	
	

	Sin ( = 2/5 and cos ( < 0
	
	
	
	
	
	

	Cot ( = 0 and sin ( > 0 
	
	
	
	
	
	


III.   Find ( given the trig value and the quadrant:

	Sin ( = .25 II
	Cos ( = -2/7

III
	Tan ( = -3.87

II
	Sec ( = 4

IV
	Csc ( = -3.26

III
	Cot ( = 2

III

	
	
	
	
	
	


IV.  Applications:

1.  A 30” tire rolls 450’ in 2 minutes.  How fast does it rotate? (Give 2 different units.)

2.  Find the area of a sector with 7π/9 central angle in a circle with diameter 36 cm.

3. A turntable spins 45 rpm.  Find the speed of a spider 5” from its center. (2 units.) 
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4.  In the figure below, find the measure of (x.
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5. The rectangular solid to the right has length of 12,                       12

width of 5 and height of 7.  Find the angle between       5

the diagonal of a face and a diagonal of the 

solid itself (as shown in the figure).









  7

6.  From the top of a 50’ tree, the angle of depression to the top of a statue is 43( 15’ and the angle of depression to the base of the statue is 65( 47’.  Find the height of the statue.

7.  A six foot tall man stands 20’ from the base of a church.  The angle of elevation to the base of the steeple is 40(26’ and the angle of elevation to the top of the steeple is 43(13’.  How tall is the steeple?

8.   In the figure below, several segments represent trig functions.  Identify which trig function each segment represents.  (m(BOD = ( and OD = 1)

OC = _______________

OE = _______________

BD = _______________

AG = _______________

BO = _______________

Find three Pythagorean Theorem relationships involving trig functions.


9.  Given the figure to the right, write x                                 x
in terms of side length b and                                        θ              

angles θ and k.
                                                              k
                                                                                           b  
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I. Complete the following table:  Change Unit means convert from radians to degrees and vice versa.  Use exact values wherever possible and 4 significant digits elsewhere.

	Given Angle (
	Coterminal Angle
	Reference Angle
	Sin (
	Cos (
	Tan (
	Change Unit

	30˚
	-330˚ or 390˚
	30˚
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	120˚
	-240˚ or 480˚
	60˚
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	246˚16’
	606˚16’ or –113˚44’
	66˚16’
	-.9154
	-.4025
	2.274
	4.298
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	150˚
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	1
	225˚

	5.27
	11.55 or -1.013
	1.013 
	-.8485
	.5292
	-1.604
	301.95˚


II.  Find all 6 trig values based on the given information.

	Given 
	Sin (
	Cos (
	Sec (
	Csc (
	Tan (
	Cot (

	(-7, 24) lies on terminal ray
	24/25
	-7/25
	-25/7
	25/24
	-24/7
	-7/24

	Sec ( = 3 and 

π < ( < 2π
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	1/3
	3
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	Sin ( = 2/5 and cos ( < 0
	2/5
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	Cot ( = 0 and sin ( > 0 
	1
	0
	undefined
	1
	undefined
	0


III.   Find ( given the trig value and the quadrant:

	Sin ( = .25 II
	Cos ( = -2/7

III
	Tan ( = -3.87

II
	Sec ( = 4

IV
	Csc ( = -3.26

III
	Cot ( = 2

III

	165.5°
	4.423
	104.5°
	4.9656
	197.86°
	3.6052


IV.  Applications:

1.  A 30” tire rolls 450’ in 2 minutes.  How fast does it rotate? (Give 2 different units.)

     180 rad/min or 90/π rpm, etc.

2.  Find the area of a sector with 7π/9 central angle in a circle with diameter 36 cm.

      126π cm2
3. A turntable spins 45 rpm.  Find the speed of a spider 5” from its center. (2 units.) 

     450π in/min or 37.5π ft./min , etc.
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4.  In the figure below, find the measure of (x.
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5. The rectangular solid to the right has length of 12,                       12

width of 5 and height of 7.  Find the angle between       5

the diagonal of a face and a diagonal of the 

solid itself (as shown in the figure).









  7

Tan-1(7/13) = 28.3°
6.  From the top of a 50’ tree, the angle of depression to the top of a statue is 43( 15’ and the angle of depression to the base of the statue is 65( 47’.  Find the height of the statue.      28.845’
7.  A six foot tall man stands 20’ from the base of a church.  The angle of elevation to the base of the steeple is 40(26’ and the angle of elevation to the top of the steeple is 43(13’.  How tall is the steeple?    1.75’
8.   In the figure below, several segments represent trig functions.  Identify which trig function each segment represents.  (m(BOD = ( and OD = 1)

OC = ____cos θ_______

OE = _____1_________

BD = ____tan θ_______

AG = _____cot θ______

BO = ____sec θ_______

Find three Pythagorean Theorem relationships involving trig functions.

(sin θ)2 + (cos θ)2 = 1       (tan θ)2 + 1 = (sec θ)2        (cot θ)2 + 1 = (csc θ)2

9.  Given the figure to the right, write x                        a        x
in terms of side lengths a and b and                             θ       m       

angles θ and k.
                                                              k
                                                                                           b  
tan θ = x/a, so x = atan θ  or since cos k = m/b, m = bcos k and so sin θ = x/m, x = msin θ = bcos k)(sin θ)
BD = � EMBED Equation.DSMT4  ��� , m(CBD = 29.93°


m(DBE = 33.75° and BE = 9 (although we didn’t need it).  So x = 360 – 90 – 29.93 – 33.75 = 206.3°� EMBED Equation.DSMT4  ���  
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